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QUESTION 1

Identify the component marked as B in the Cloud Connection scenario that shows a persistent connection established
between the customer\\'s environment and the IBM Cloud. 

A. Virtual Router Appliance 

B. Secure Gateway Client 

C. Secure Gateway Service 

D. Cloud Gateway Appliance 

Correct Answer: D 

 

QUESTION 2

What is the charging model for IBM Cloud Object Storage Standard Tier? 

A. The charge is based on the size of the Storage Class Standard Tier configuration 

B. The charge is calculated based on the amount of data stored and retrieved 

C. The charge is calculated only based on the amount of data retrieved 

D. The charge is calculated only based on the amount of data stored 

Correct Answer: D 

 

QUESTION 3

What does an IBM Cloud Container Registry provide? 

A. A collection of multiple zones rules that allow inbound connections to reach the cluster services 

B. A collection of multiple regions rules that allow inbound connections to reach the cluster services 

C. Multi-tenant, highly available, and scalable private image registry that is hosted and managed by IBM 

D. Single-tenant, highly available, and scalable private image registry that is hosted and managed by IBM 

Correct Answer: C 

 

QUESTION 4

In the context of the Key Protect service, which of the following statements is correct? 

A. Key Protect allows you to manage keys as well as SSL/TLS Digital Certificates 
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B. Key Protect allows you to import keys for other Clouds 

C. Key Protect allows you to manage service accounts 

D. Key Protect allows you to create a new key or import your own key (BYOK) 

Correct Answer: D 

 

QUESTION 5

The customer decided to remove the Caveonix RiskForesight all-in-one service from the IBM Cloud and move to a
distributed model for VMware Solutions. By default, IBM automatically deletes only the single deployed all-in-one
Caveonix VM and the dedicated private subnet that was ordered for it. 

What are the key considerations? (Choose two.) 

A. If you used the IP addresses of the dedicated private subnet on additional VMs, those VMs must be ^ assigned new
IP addresses to continue to function 

B. Old configurations can be deleted and migrated to a new environment 

C. If you scaled out the Caveonix VM into multiple VMs, those additional VMs are not removed 

D. Delete the VM and Storage allocation, Cavenoix RiskForesight will discontinue data gathering and services are
deemed stopped 

E. Unsubscribe the license and remove the instance of all-in-one deployment in the VMware solutions, release the IP
address to DHCP, DNS servers 

Correct Answer: AC 

 

 

QUESTION 6

On IBM Cloud, what are the two types of pipelines and how are they specified? (Choose two.) 

A. Tekton pipelines are specified in YAM 

B. Legacy pipelines are specified with CSV files. NextGen pipelines are specified in JSON 

C. Complex pipelines are specified in JSO 

D. Classic pipelines are specified graphically. Tekton pipelines are specified in YAM 

E. Simple pipelines are specified with XM 

F. Codewind pipelines are specified in XMI 

Correct Answer: CD 
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QUESTION 7

A Dialog Skill in Watson Assistant can make a web service call via which of the following? 

A. SOAP Endpoint 

B. Message queue 

C. Webhook 

D. Web service definition language 

Correct Answer: C 

 

QUESTION 8

A retail company has issued an RFP to transform an existing on premise publicly accessible application to Cloud Native
using IBM Kubernetes Service and Cloud Internet Services. The customer brought up an additional non-functional
requirement around performance at the edge. It is explained that the solution will be able to accommodate the concern
without additional service. 

How is this possible? 

A. IKS can scale across the globe 

B. IKE provides a built in Content Delivery Network 

C. Cloud Internet Service has Page Rules 

D. Cloud Internet Server has a 32TB Network 

Correct Answer: D 

 

 

QUESTION 9

In order to provide a highly resilient and highly available network with ECMP and diversity connections to IBM Cloud,
how many Direct Link circuits should be recommended? 

A. 6 

B. 3 

C. 4 

D. 2 

Correct Answer: D 
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QUESTION 10

A VPC has been created with a single subnet. Virtual server instances have been deployed on the subnet that have
different functions which support a production application. The security team has now said that they want to ensure that
network traffic between the different server types can be controlled. How can this be achieved? 

A. Create a VPC load balancer and place each server type into its own back-end pool, then create Layer-7 routing
policies that restrict network traffic flowing between the different pools 

B. Use a Hardware Security Module to create advanced network routing tables that ensure traffic does not route
between server ^ types, as per the security tearruTMs wishes 

C. Create security groups for the different server types with inbound and outbound rules that satisfy the security team,
into which the VSIs can be placed 

D. Create multiple access control lists with rules that satisfy the security tearruTMs requirements and associate each
VSI to the respective ACL 

Correct Answer: B 

 

QUESTION 11

What is IBM Cloud Functions? 

A. An IBM Cloud service for implementing multi-stage business processes involving users and systems 

B. polyglot functions-as-a-service (FaaS) programming platform for lightweight code that executes on demand 

C. A capability of Cloudant for triggering an action as data is updated, for example, sending data updates to systems 

D. The low-code/no-code development environment for data replication and systems integration in App Connect 

Correct Answer: B 

 

QUESTION 12

To get the most out of Endurance File Storage, which option specifies performance? 

A. Choose IOPS catalog items from NFS that manage performance configuration settings 

B. Choose IOPS storage tier that feature pre-defined performance limits 

C. Choose configuration items from NFS that configure performance levels to fit workloads 

D. Choose from NFS catalog items from that manage performance configuration settings 

Correct Answer: B 

 

QUESTION 13

What enables faster web performance by locating copies of web data closer to end users? 
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A. Virtual Router Appliance 

B. Load Balancer 

C. Virtual Private Network 

D. Content Delivery Network 

Correct Answer: D 

 

QUESTION 14

IBM Log Analysis with LogDNA can be used to manage which of the following? 

A. Cloud native applications logs on any Cloud 

B. System and application logs in the IBM Cloud 

C. Only application logs in the IBM Cloud 

D. Service Mesh in IBM Cloud 

Correct Answer: B 

 

QUESTION 15

Which of the following is a Cloud native container monitoring and trouble shooting service? 

A. API Gateway 

B. IBM Cloud Monitoring with Sysdig 

C. IBM Log Analysis with LogDNA 

D. PortWorx Enterprise 

Correct Answer: B 
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